Lesson 39
Sections 7.5 and 7.6
When two radicals have the same indices and same radicands, they are said to be 'like radicals'.  They can be combined the same as 'like terms'.
Like Radicals:  
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Unlike Radicals:  
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Add like terms:  
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Add like radicals:  
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Simplify by combining 'like radicals'.
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Sometimes radicals must be simplified before combining.
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Multiply the following radicals:  
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Remember that the product rule for radicals says radicands can be multiplied as long as the indices are the same.
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Multiply using either the distributive property or FOIL.
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The following binomials are called conjugates.  With conjugates only do the F and L of FOIL.
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You know you can add, subtract, multiply, or divide (by nonnegative number) and get a true equation.  Let's see if both sides can be raised to the same power.  Square both sides.
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Is x = 3 still a solution?  Yes.  However, 
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 could also be a solution of the squared equation.  So raising both sides to the same power results in an equation with a solution of the original equation.  However, sometimes there may also be solutions that are not solutions of the original equation.  

Power Rule:  If 
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, then 
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 has the same solution as the original equation.  However, the squared equation may also have 'extra' solutions that are not solutions of the original equation.  Therefore, all solutions of a squared equation must be checked in the original equation.
Solve the following equations.  Check all solutions.
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Before squaring, the radical must be isolated.
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